AMENDMENT OF SOLICITATI	ON/MODIFICATION	OF CONTRACT	I. CONTRACT ID CODE	AGE OF PAGE
Z AMENOMENT/MODIFICAT ON NO.	3. WAYE CT 'VE 1998 .	A REQUISITION/PUR		CT NO. (II applicatio)
Two (2)		NRC=10-89+17	1 dtd. 3/15/90	-1
U.S. Nuclear Regulatory Commi Division of Contracts and Pro Washington, DC 20555	ssion		COD	PE (
B NAME AND ADDRESS OF CONTRACTOR (A	io., street, county, State and	ZIP Code)	W SA. AMENDMENT OF S	OLICITATION NO.
Tracor Technology Resources, Inc. 1601 Research Boulevard Rockville, Maryland 20850			98. DATEO (SEE ITEM I	
			X NRC-10-89-171	
			108. DATED (SEE ITEN	13)
CODE	EMONLY APPLIES TO	WENDWENTS OF SC	9/13/89	
The above numbered solicitation is amended	the state of the s			
IT MODIFIES	3-1	ER NO. AS DESCRIBE	D IN ITEM 14 FORTH IN ITEM 14 ARE MAD	
X B. THE ABOVE NUMBERED CONTRACT/C eppropriation date, etc.) SET FORTH IN I C. THIS SUPPLEMENTAL AGREEMENT IS			RATIVE CHANGES (such as ch 43.103(b).	anges in paying office
O. OTHER (Specify type of modification and	authority)			
MPORTANT: Contractor is not.	X is required to sign the TION (Organized by UCF red	s document and return tion headings, including to	2 copies to the issu	ing office. er where feasible.)
See	Attached.			
900824002 PDR CONTI NRC-10-89	7 900516 R_ 171 PDC			
ccept as provided herein, all terms and conditions o	st the document referenced in	Tiem 9A or 10A, as here	ofore changed, remains unchang	and in full force
HENRY NESFELT	(I)	164. NAME AND TITLE	OF CONTRACTING OFFICER	(Type or print)
DIRECTOR OF CONTRACTS &	ISC. DATE SIGNED	A ARA	in. Contracting Off	LILG Z
Juny rafter	5/16/90	1 Annation 6	Carlington Other)	11/10
SN 7540 01-152 CO NEVIOUS EDITION UNUSABLE	1.01	05	STANDARD FO Prescribed by OS FAD HER CED	RM 30 (REV. 10 83)

Modification No. 2 NRC-10-89-171 Page 2 of 2

The purpose of this modification is to increase the contract ceiling by \$11,040.34, from \$93,541.20 to \$104,581.54, to delete the requirement for the Government to furnish the chain of custody forms, to revise the hourly rates shown on pages 5 and 6 of the contract to reflect loaded hourly rates which include the hours expended by all labor categories in this effort, to adjust the unit price for materials and supplies to include the additional costs involved in complying with the special requirements of the NRC's testing laboratory, to revise the travel ceilings to reflect costs only (eliminating fee) and to add new line item #6 to allow for collections made at the contractor's sites outside of Washington, DC. The revised hourly rates and travel ceilings are effective September 13, 1989. The revised price for materials and supplies is effective January 11, 1990. The addition of line item #6 is effective April 6, 1990. Accordingly, the contract is modified as follows:

1. Block 15G of the SF26, "Total Amount of Contract", is revised to delete "\$93,541.20" and insert "\$104,581.54".

2. Section B.2, "Consideration and Obligation - Delivery Orders", is revised by deleting the amount of "93,541.20" in line 3 and inserting the amount of "104,581.54".

3. Pages 5 and 6 of the contract are deleted in their entirety and replaced with the attached Enclosures 1 and 2 to this modification.

4. Section C, Statement of Work, paragraph C.1.2.3. Add the following sentence to the first paragraph:

"Also, occasionally, applicant testing may be performed at the Contractor's facilities outside of Washington, DC at the per collection rate specified in Section B, line item 6."

5. Section H.6, "Government Furnished Material", is revised to delete the first sentence and substitute the following:

"The Government will provide the Permanent Record Book sheets."

All other terms and conditions remain the same.

Revision 1	18 gel	and the second	
IDEFEDENCE	NO O	FDOCUMENT	BEINGT

Enclosure 1

5

30

PAGES

RS-ARM-89-171

NAME OF OFFEROR OR CONTRACTOR

•

ITEM NO.	* SUPPLIES/SERVICES	QUANTITY	UNIT	UNIT PRICE	AMOUNT
	"Supplies/Services" is revised as follows to reflect revised estimated quantities and the prices and amounts:				
	The contractor shall perform Collection and Transportation of Urinalysis Samples for Dru Testing in accordance with the Statement of Work for a period of one year with a one year option.	g			
1.	Collection of samples	Year 1 (Base-Year)			
		ESTIMATED QTY	>	FIRM FIXED PRICE/HOUR	ESTIMATED
	a. Headquarters (Atch 5)	490	HR	\$41.02	\$20,000,5
	- QC samples	225	HR	\$41,02	\$ 0,229.5
	- emergency collections	5	HR	\$61.53	\$ 307.6
	b. Regions (Atch 5)	545	HR	\$38.43	\$20,944.3
	- emergency collections	5	HR	\$57.65	<u>\$ 288.2</u>
	c. Remote Sites (Atch 6)	275	HR	\$36,81	.\$10,122.7
	- emergency collections	5	HR	\$55,22	\$ 276.1
2.	Statistical Summary Report (Included in the price of Item 1.a., b, & c.)		LOT	Not Separa	tely Priced
3.	Materials and Supplies (1325 collections/ 3100 Kits)	3100	EA	\$2.13	\$ 5,603.0
4.	Shipment of Specimens to NRC Drug Testing Laboratories (Each shipment will range from 1 to 75 specimens)	288	LOT	<u>\$15.81</u>	<u>\$4,553.28</u>
5.	Travel & Per Diem - Estimate one trip per month to Headquarters (two persons per trip) one trip per month to Regions (two persons per trip) and a total of six trips to Remote		TRI	PS N/A	Ceiling 532,156.8
	Sites per month (one person per trip). Costs will be reimbursed IAW current Federal Travel Regulation rates. The NRC may unilaterally increase the ceiling amount at any time during the period of performance.			FIRM/FIXED PRICE/COLLEC	TION
6.	Applicant testing at contractor sites outside of Washington, DC.	0	EA	\$35.00	0
	TOTAL CEILING PR	ICE (BASE	YEAD		104,581,54

STANDARD FORM 36 (HEV. 10-83)

	Revision 1	State Property of	PAGE	re 2
	TREFERENCE NO. OF DOCUMENT BEING (	TINUED	PAGE	OF
NUATION SHEET	RS-ARM-89-171		6	30

## CONTINUATION SHEE

Collection of samples			the second	
confection of samples	(Option Y	ear)		
	ESTIMATED Q'Y.		FIRM FIXED PRICE/HOUR	ESTIMATE
a. Headquarters (Atch 4)	490	HR	\$ 42.11	\$20,633.9
- QC samples	113	HR	\$ 42.11	\$ 4,758.4
- 5 emergency collections	5	HR	\$ 63.17	\$ 315.8
b. Regions (Atch 4)	545	HR	\$ 39,17	\$21,347.6
- emergency collections	5	HR	\$ 58.74	\$ 293.8
c. Remote Sites (Atch 5)	275	HR	\$ 37.67	\$10,359.2
- emergency collections	5	HR	\$ 56.51	5 212.5
Statistical Summary Report (Included in the price of Item 1.a., b, & c.)		LOT	Not Separa	tely Priced
Naterials and Supplies (1235 collections/ 2876 Kits)	2876	EA	<u>\$ 2.13</u>	<u>s. 6,125.9</u>
Shipment of Specimens to NRC Drug Testing Laboratories (Each shipment will range from 1 to 75 specimens)	288	LOT	\$16.54	\$ 4,763.5
Travel & Per Diem - Estimate one trip per month to Headquarters (two persons per trip), one trip per month to Regions (two persons per trip) and a total of six trips to Remote Sites per month (one person per trip). Costs will be reimbursed IAW current Federal Travel Regulation rates. The NRC man unilaterally increase the ceiling amount at any time during the period of performance.	 y	TRIF	FIRM/FIXED	Ceiling 533,652.1 CTION
Applicant testing at contractor sites outside of Washington, DC NOTE: The fixed price per labor rate is a burdened rate that includes labor, overhead, G&A, fringe benefits, costs associated with the preparation of statistical summary reports, and profit. The per hour labor rate does not include travel costs.	e n	EA	\$35.00	r
	<ul> <li>QC samples</li> <li>5 emergency collections</li> <li>Regions (Atch 4) <ul> <li>emergency collections</li> </ul> </li> <li>Kemote Sites (Atch 5) <ul> <li>emergency collections</li> </ul> </li> <li>Statistical Summary Report (Included in the price of Item 1.a., b, &amp; c.)</li> </ul> <li>Materials and Supplies (1235 collections/2876 Kits)</li> <li>Shipment of Specimens to NRC Drug Testing Laboratories (Each shipment will range from 1 to 75 specimens)</li> <li>Travel &amp; Per Diem - Estimate one trip per month to Headquarters (two persons per trip), one trip per month to Regions (two persons per trip), Costs will be reimbursed IAW current Federal Travel Regulation rates. The NRC maunilaterally increase the ceiling amount at any time during the period of performance.</li> <li>Applicant testing at contractor sites outside of Washington, DC NOTE: The fixed price per labor rate is a burdened rate that includes labor, overhead, G&amp;A, fringe benefits, costs associated with the preparation of statistical summary reports, and profit. The per hour labor rate does not include travel costs.</li>	<ul> <li>a. Headquarters (Atch 4)</li> <li>QC samples</li> <li>S emergency collections</li> <li>Regions (Atch 4)</li> <li>emergency collections</li> <li>c. Remote Sites (Atch 5)</li> <li>emergency collections</li> <li>c. Remote Sites (Atch 5)</li> <li>emergency collections</li> <li>f</li> <li>statistical Summary Report (Included 12</li> <li>in the price of Item 1.a., b, &amp; c.)</li> <li>Materials and Supplies (1235 collections/ 2876</li> <li>Statistical</li> <li>Shipment of Specimens to NRC Drug Testing Laboratories (Each shipment will range from 1 to 75 specimens)</li> <li>Travel &amp; Per Diem - Estimate one trip per month to Headquarters (two persons per trip), one trip per month to Regions (two persons per trip). Costs will be reimbursed IAW current Federal Travel Regulation rates. The NRC may unilaterally increase the ceiling amount at any time during the period of performance.</li> <li>Applicant testing at contractor sites outside of Washington, DC</li> <li>NOTE: The fixed price per labor rate is a burdened rate that includes labor, overhead, GAA, fringe benefits, costs associated with the preparation of statistical summary reports, and profit. The per hour labor rate does not include travel costs.</li> </ul>	a. Headquarters (Atch 4) - QC samples - S emergency collections b. Regions (Atch 4) - emergency collections c. Remote Sites (Atch 5) - emergency collections Statistical Summary Report (Included in the price of Item 1.a., b, b c.) Naterials and Supplies (1235 collections/ 2876 Kits) Shipment of Specimens to NRC Drug Testing Laboratories (Each shipment will range from 1 to 75 specimens) Travel & Per Diem - Estimate one trip per month to Headquarters (two persons per trip), one trip per month (one person per trip). Costs will be reimbursed IAW current Federal Travel Regulation rates. The NRC may unilaterally increase the ceiling amount at any time during the period of performance. Applicant testing at contractor sites outside of Washington, DC NOTE: The fixed price per labor rate is a burdened rate that includes labor, overhead, GAA, fringe benefits, costs associated with the preparation of statistical summy reports, and profit. The per hour labor rate does not include travel costs.	a. Headquarters (Atch 4)       490       HR       \$ 42.11         - QC samples       113       HR       \$ 42.11         - 5 emergency collections       5       HR       \$ 63.17         b. Regions (Atch 4)       545       HR       \$ 59.17         - emergency collections       5       HR       \$ 59.76         c. Remote Sites (Atch 5)       275       HR       \$ 59.76         - emergency collections       5       HR       \$ 58.76         c. Remote Sites (Atch 5)       5       HR       \$ 58.76         - emergency collections       5       HR       \$ 58.76         - emergency collections       5       HR       \$ 56.51         Statistical Summary Report (Included in the price of Item 1.a., b, & c.)       12       LOT Not Separa         Naterials and Supplies (1235 collections/ 2876       EA       \$ 2.7.13         2876 Kits)       Shipment of Specimens to NRC Drug Testing Laboratories (Each shipment will range from 1 to 75 specimens)       144       TRIPS N/A         Travel & Per Diem - Estimate one trip per month to Regions (two persons per trip) and a total of six trips to Remote Sites per month (one person per trip). Costs will be reinbursed IAW current Federal Travel Regulation rates. The NRC may unilaterally increase the ceiling amount at any time during the period of performance.       FIRM/FIXED PRICE/COLLED ONCE.<

- 20

PAGES